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l. o. Why is o hqmmer good for fixing togefher pieces of wood with o noil?

b. Why is o sow suitqble tool for cutfing wood?

2. o. One woy of pnotecting the environment from rqin wqter is:

b. One donger of stognont wqter is:

3. Complete the following sentences:

q. An object which does not ollow oll the light to poss through it is cqlled

b. The moin source of noturol light on eorth is'

Ll. The diogrom below shows o reflected roy of light qnd o plone minror.

!'JormoI
o. Drow on incident roy on the diogrom.

rftrrror c. Whqt is the size of the ongle of
reflection?

5. o. When is the lunor eclipse formed?

b. An umbro shodow is the
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6. o. Give on exqmple of o solid fuel.

b. Exploin why olfhough pefrol is o useful liquid fuel it con be dongerous if it is

corelessly hondled.

7. A dry cell stores chemicol energy. In o torch, the chemicol energy from the cell

is converted into other energies. Nome these energies.

8. o. Write one difference between o metol qnd o non-metol.

b, Why qre elecfric wires mode of copper?

Air of the ofmosphere is composed of mony goses.

o. Which of these goses supports burning of wood?

b. Which gos puls off fire from burning wood?

10. o. A stone sinks in woter becouse

b. Whot is the meoning of relo*ive density of o substqnce?

ll. Complete the diogrqm below which shows o gloss block ond incident roy.

Gloss btock ---*

lncidenf rciy

12. o. By which method does heqt trovel through o liquid?

b. Which liquid is o good conductor of heqt?

"!-------
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13. Drqw o simple electric circuit composed of' one dry cell, connecting wires, o

switch ond o lomp bulb.

In the distribution of electricity from the moin sounce, the following moteriols

ore used, poles, trqnsformers ond cobles (electric wires).

q. Whot is the use of o tronsformer?

b. Why qre cobles (electric wires) used?

15. . Give two uses of electricity.

lL1.

15. It is bod to touch q switch with wet honds becouse

17. Give on exomple to prove thot'
' o. sound trqvels through woter

b. sound does not trovel through very hord surfoces'

lB. q. Con sound be stored?

b. Give on exomple to support your onswer in (q) obove.

H. Why is o wheelborrow used to corrY heovy weights?

20. Nome the source of cleon woter in your home.

2,.. o. Loke w.oter is not cleon for drinking becouse

b. How is loke woter mode cleon for dninking?
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c. Nome one diseose coused by drinking dirty woter (i." loke woter, stognont
woter, etc)

22. Drow o diogrom to represent woter cycle. Stort from lqke woter.

23. o. Whot is o mognet?

b. Why is one end of o bqr mognet colled q norfh pole ond the other. o south
pole?

21. The diogrom below represenfs q bor mognet. Drow mognetic lines of force
oround it.

25. Give two uses of o mognet.

25. Three respirotory diseoses ore

27. o. Give ony three uses of food to mon.

b. The besf food for o boby of less thon eighf monfhs is

28. o. The fwo types of germinotion ore
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b. For q beqn seed to germinote, it must be mqtune ond heolthy. Mention the

other necessory conditions for the seed to germinote.

21;;. The toble below shows foodstuffs prepored by different fqmilies. Study it ond

onswer questions thot follow.

Fomily A Fomtly B Fomtly C Fomlly D

Bononqs Cqssqvo Potqtoes Millet

Meot Beons Posho Fish

Beons Posho Cossovo Meot

Yoms Yqms Yoms Mongoes

o. Which fomily hos proteins but lqcks fots?

b. Whof food nufrients or e locking in fomily A?

c. Which fomily hos o bolonced diet?

' 30. One reqson which shows thot onimols ond plonts depend on eoch other is thqt

3l' Give the difference be*ween the life history of o cocknoqci ond thot of o

housefly.

32 Give the difference between the woy mqn ond insects breothe.

33. Study the toble below ond qnswer the quesfions thqt follow.

A B

Tilopio

Frog

Crocodile

Hen

Rot

Goot

Lion

Whole
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o. Whqt is the similorify in the woy fhe onimols in list A repr-oduce?

b. The onimols in list B belong to o group of onimols colled

c. In whqt woy is the tilopio in lisf A similor to the whole in list B?

3Ll. The diogrom below shows port of the olimentory conol of o humon being. Use it
to onswer the following questions.

o. Nqme ports,

X

XY
W

b. A process thot tokes ploce in the port

morked Y is

c. One use of the port morked X is

35. Give two woys of preventing ond controlling eoch of the following diseoses

without using drugs.

o. AIDS

t.

ii.

b. Molorio

t.

ii.

35. o. An eorthwonm is colled qn invertebnote becouse

b. One moin use of o humqn skelefon is,

37. o. All qrteries corry oxygenoted blood except

b. All veins corry deoxygenoted blood except

38. The str uctures of q leqf of o plonf thot help in the process of fronsportotion

ore -----
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